 
Why do we not see the Matrix?
This is one of the most popular questions I am asked as an expert in Binary Physics.
At the climax of the film the “Matrix,” Neo, the hero, manages to decipher the binary reality behind the “reality” with which all of us are familiar. This insight allows him to defeat his enemies easily.
There are strong indications that we live in binary reality, which is based on Binary Physics. For example, it is more reasonable to assume that we invented the binary computer precisely because that is what can be invented in a binary universe like ours, rather than assume that we invented the binary computer in a universe where physics makes up many kinds of computers (if so, where are they?). It can be likened to how LEGO people living in a LEGO universe should not be surprised when they “invent” a game of LEGO….
In any event, if the assumption that the universe is based on Binary Physics is correct, we should expect to find only one elementary particle (we can call it “1” or “Existence”) and alongside it, another essence that exists wherever the elementary particle is not found (we can call it “0” or “Placeholder”).
In practice, as we know, not only do all observations not show only one particle, but rather, modern physics tells us of a “jungle” of particles...
How can the observations of such a wide range of elementary particles, photons (in a variety of frequencies), electrons, protons, neutrons (and the list goes on) be reconciled with Binary Physics, which is based on a single particle?
How is the illusion of a multiplicity of particles created? Where is the Matrix of the lone particle hiding?
Binary Physics provides us with a marvelous theory that succeeds in explaining in a consistent, logical, simple, and non-contradictory manner, the totality of phenomena and physical laws in nature using 1 and 0. “Existence” and “Placeholder.”
And this is its explanation:
Our phenomenal brain is in fact a rather slow calculating machine. The calculation processes in it are significantly slower than the reaction time (or speed of response) of an information cell in our universe (in Binary Physics, each unit of space containing 1 or 0 is called a “cell”). The speed of response of a cell in our universe determines the fastest time in which a change can occur in the universe. This speed of response is known to us as the speed of light. No information in any system (for the present purpose, the universe can be considered one enormous system) can move at a rate that exceeds the speed of response of the cells that comprise it.
According to the Fifth Axiom of Binary Physics, there is a queue, and in each turn in the queue, the cells change their value according to a certain algorithm (this algorithm is what actually determines the Laws of Physics). It follows from this that the cell’s speed of response is one turn. The human mind interprets the series of changes caused by the passing of turns as a sense of time.
Since the processes of human brain processing are significantly slower than the speed of the queue, when the human brain observes space it does not see the binary values ​​of the cells in a particular turn (that is, the Matrix as it is). But rather, it sees a sort of “average” of the values of the cells along an enormous quantity of turns.
This is similar to an experiment I often do with the children in the “Hop! Science” Enrichment Program; we color one half of an army identity tag yellow and the other half blue. When the tag is spun quickly, the brain does no longer succeeds in discerning the yellow and blue halves but rather presents us with a “green” disc. Any pattern of colors will give us a “new color” when the tag is spun (an average of the colors of the pattern).
Similarly, when we watch television, our brain does not show us the pixels as they are but an imaginary image at low resolution of the news anchorperson...
We are less accustomed to thinking this way, but the exact same process is happening along the axis of time... Our brain compresses a great deal of quick information that flows along the time axis and presents it to us in a “flattened” manner as the “present moment” - as an average of all that information.
Each information pattern of a cell, consisting of its values ​​over a huge amount of turns, is interpreted by our brain as a different particle ... According to the calculations of Binary Physics, in one second measured on a clock on the surface of the Earth, approximately 1.343 x1050 turns transpire in the cell. Thus, there are many possibilities for creating patterns in our “present moment”...
For example, patterns that allow the free flow of information (of the elementary particle) are interpreted by us as photons....
(According to Binary Physics, the elementary particle “1” can flow freely only if the cell in front of it contains a Placeholder “0.”)
Since the information pattern in the cell contains a higher frequency of the elementary particle, it is interpreted as a more energetic photon (possessing a higher frequency).
If, as an abstract example, a pattern of 00001000010000100001 represents infrared particles, then a pattern of 001001001001 will represent a pattern of an ultraviolet particle (the frequency of the Existence 1 relative to the Placeholder 0 increases in the pattern of the more energetic particle).
At a certain point, the frequency of the elementary particle increases to the point where obstructions are created ... (An obstruction is created when the cell to which the elementary particle is supposed to pass also contains an Existence 1, instead of a Placeholder 0.)
The obstructions, the delay in the flow of information, are interpreted by our brain as mass. As the obstruction is larger, the mass of the particle is greater.
For example, if, as an abstract example, a pattern 111100111100111100 is interpreted as a proton (an obstruction of 4 cells), then the pattern 000011000011000011will be interpreted as an electron (an obstruction of 2 cells).
Since these patterns have an obstruction, the flow of information in them is slower, and the ability of their information to “move” in space decreases. Therefore, patterns possessing mass will always move at a speed slower than the speed of light ... the greater the obstruction, the greater their mass will be, and their velocity will decrease…
The sharp-sighted among you may notice that the example of the pattern of the proton and the electron complement each other (where there is a particle of Existence, 1, in one of them, there is a Placeholder 0 in the other, and vice versa). This is not accidental. The opposite structure of the patterns allows them to spin around each other, with one thus preserving the structure of the other. The spinning between the patterns, which is created by them preventing the patterns from collapsing, is interpreted by our brain as the attraction of the electric charge...
As we have seen above, all the properties of the particles - energy, mass, electric charge, etc. - are derived from the structure of their pattern – that is, from the frequency and arrangement of the particle of Existence 1 versus the Placeholder 0 on the time axis.
The phenomenon in which the human brain “shrinks” the information that passes through the cell over many turns (the information pattern in the cell) - into a kind of average that it imagines as a particle with certain properties - is called a “time resolution.” This is a fundamental phenomenon in Binary Physics, and it is what prevents us from seeing the Matrix and the only particle in it as they truly are.
To conclude my short essay, I will address another question that I am often asked when I conclude my explanations.
Although the human brain has slow processing capability, today human beings have developed powerful computers with a vastly faster processing speed. Why do computers not show us the Matrix as it is?
The answer to this is simple. In order to see the value of the Matrix cell in a single turn, there must necessarily be a calculating machine whose processing speed is greater than the cell’s response speed in the universe. It is abundantly clear that by the very definition, it is impossible in any universe to construct a machine that has a response speed higher than the response speed of the basic cell of the universe of which it is composed.
Such a machine can only be built “outside” of the boundaries of that universe (outside the boundaries of the physics of that universe, if you will). That is, only an observer external to our universe, one that is not subject to our physics, can see or construct a machine that will see the value of the cell in our universe in every turn.
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